el SID GO

START! You can only pass through rooms where the calculation is correct. \
| | —
=25.1cm @ =12.6cm @ =31.3m . =37.7cm ‘ =50.2m
=18.8m ‘=25.1 m @: 15.7 cm =31.4m @=9.4 cm
=43.9cm ’ =56.5m @ =22.0cm ‘ =62.8cm @ =75.4cm
=283 m @=63cm @=~35m @=9.5m ‘=40.7m
=5.0cm =21.3 m .=21.4 cm @=13.2 m =25.9m
=87m ‘=22.1 cm ‘=59.6m =13.5 cm ‘=51.5m




/.86 START! You can only pass through rooms where the calculationis correct. \

=25.1cm @ =12.6 cm @ =313 m ‘ =37.7cm . =50.2 m
% =18.8 m ‘= 25.1m @= 15.7 cm =31.4 m @=9.4 cm
=43.9cm ‘ =56.5m @ =22.0cm ‘ =62.8cm @ =75.4cm

/
9m)=28.3m @=6.3cm @=~3Sm 3m>=9.5m ‘=40.7m

\
‘=5.0 cm =21.3 m ‘=21.4 cm @=13.2m =25.9m
‘=8.7m ‘=22.1 cm ‘=59.6m =13.5 cm ‘=51.5 m
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